
 HALDEN L 70 INSTALLATION 

DRAWINGS



HOUSE: HALDEN L 70

POS. DESCRIPTION NOTE PCS. PROFILE LENGTH

AR4 IMPREGNATED FLOOR FRAMING 1 45x95 4983

AR3 IMPREGNATED FLOOR FRAMING CUTOUT 1 45x95 4983

AR1 IMPREGNATED FLOOR FRAMING 16 45x95 2000

AR2 IMPREGNATED FLOOR FRAMING 1 45x70 2000

PL-1 FLOOR BOARD FRONT ROOM 18+2 24x112 1996

PL-2 FLOOR BOARD SAUNA ROOM 18+2 24x112 1965

KL-1 ROOF BOARD 50+4 24x112 2728

SL-1 CEILING BOARD SAUNA ROOM 18+2 14x111 2013

TL-1 IMPREGNATED TERRACE BOARD 17+2 28x120 800

TL-2 IMPREGNATED TERRACE BOARD 1 28x120 2118

PP-1 FLOOR/CEILING/ROOF MOULDING 20+2 15x55 2100

DL-1 SPACER 4 15x55 1996

R-1 BATTEN BEVELLED 2 45x45 1996

RLT-1 ROOF EDGE SUPPORT 2 45x45 5533

RL-1 ROOF EDGE BOARD 2 18x95 3000

RL-2 ROOF EDGE BOARD 2+1 18x95 5600

APL55-1 4 15x55 1762

APL95-1 4 18x95 1670

APL95-2 4 18x95 1920

APL95-3 8 18x95 1887

UPL95-1 4 18x95 920

UPL95-2 8 18x95 1890

UPL-1 EXTRA MOULDING 2 18x95 2400

MOULDINGS FOR 845+845x1792 WINDOW 2 SETS

MOULDINGS FOR 690x1860 DOOR 2 SETS



HOUSE: HALDEN L 70

PCS.

1

1

4

1

1

4

4

PCS.

1

1

1

1

1

1

1

1

1

1

6

20M

2

2

1

1

FIXING POST (TL-1) 1860MM

DESCRIPTION NOTE

D
O

O
R

S
/W

IN
D

O
W

S

EXTERIOR DOOR WITH WOODEN FRAME 70x690x1860

GLASS DOOR 70X690X1860

WINDOW 70x845x1792

DOOR HANDLE SET FOR EXTERIOR DOOR

DOOR KNOB SET FOR GLASS DOOR

C
O

M
P

O
N

E
N

T
S

BENCH MODULE 600x1992

BENCH MODULE 500x1992

BENCH MODULE 400x1992

3MM SLOPE BOARD 1996MM

OUTDOOR BENCH 563x750

GRID WALL 650x1711

6MM SLOPE BOARD 1996MM

9MM SLOPE BOARD

1

ADDITIONAL VERTICAL BENCH SUPPORT 45x45x1000 ADJUSTABLE

DESCRIPTION NOTE

BENCH SUPPORTS SET 45x45 (560-3PCS, 500-1PC,465-2PCS, 

452-2PCS, 375-2PCS)

FIXING POST (TL-2) 1792MM

1996MM

12MM SLOPE BOARD 1996MM

OPENS RIGHT

SPRAY FOAM FOR DOORS/WINDOWS

INSULATION SHEET 30x600x1200

ALUMINUM TAPE

WOODEN VENTILATION LOUVER D100

METAL VENTILATION GRID D100

DRAINAGE 2000+



HOUSE: HALDEN L 70

POS. PCS. LENGTH

KL1 3 2490

KL2 3 2195

6

6

6

6

PCS.

300

300

200

70

10

500

300

1

2

2

250

6x180 SCREW FOR PURLINS, CONNECTING WALL LOGS WITH FLOOR FRAMING 

AND WALL LOGS
70

NUT M10

DESCRIPTION

F
A

S
T

E
N

E
R

S

3.5x50 SCREW FOR FLOOR BOARDS

3x40 STAINLESS SCREW FOR DOOR/WINDOW MOULDINGS

4.2x55 STAINLESS SCREW FOR TERRACE AND ROOF EDGE BOARDS

4.5x60 SCREW FOR ROOF EDGE SUPPORT

5x40 SCREW FOR SLIDING BRACKETS

5x90 SCREW FOR FLOOR FRAMING, CONNECTING WALL LOGS WITH FLOOR 

FRAMING, BENCH MODULES, CEILING INSULATION AND GRID WALL

DESCRIPTION

ADJUSTABLE POST SUPPORT 60x60

SLIDING BRACKET 35x35x130

WASHER M5 FOR GRID WALL

6x70 DOOR/WINDOW FRAME SCREWS

75MM NAIL FOR ROOF BOARDS

40MM LOST HEAD NAIL FOR CEILING BOARDS

THREADED ROD M10

THREADED ROD M10

METAL PLATE M10 (40x40x5)

LENGTHENING BOLT M10

WASHER M10






































	5.pdf
	6.pdf
	7.pdf
	8.pdf
	9.pdf
	10.pdf
	11.pdf
	13.pdf
	14.pdf
	16.pdf
	17.pdf
	18.pdf
	19.pdf
	20.pdf
	21.pdf
	22.pdf

